Cll# Jlesienue nenpIx yuce

Nwms:

Pemure kaxayr 3axauy.

D 56:2=_ 2)
3) 31:4= 4)
5 602=_ 6
7) 32:5= 8)
9 812:8= 10)
1) 577:2= 12)

25:7 =

960:8 =

792:6 =

765:9 =

663:6 =

46:2 =

OTBeThI

10.

11.

12.

E\/IaTeMaTI/IKa www.CommonCoreSheets.ru

1-10
10 11-12

7567 [58[50]42]33[25[17]




=

JleneHue neapIx yncel Wms: KJII04 K MPaBHILHBIM OTBETAM
Pemnre Kaxayro 3aaaudy. OTBeTHI
) 56:2=_ 28 2) 25:7=_ 314 ) ’8
2. 3r4
3, 713
3 3114=_713 4 960:8=_ 120 4. 120
5 30
6. 132
7. 6 r2
5 60:2=_ 30 6) 792:6=_132
8 85
9. 101 r4
0. 110r3
7 32:5= 612 8) 765:9= 85 L 288r1
1, 23

9 812:8= 10114

) 577:2= 2881l

10) 663:6=_ 11013

12) 46:2= 23

1-10
E\/IaTeMaTHKa www.CommonCoreSheets.ru 1 0 11-12

75| 67]58[50[42[33[25]17]




